
 

 

 

 ـ  1  

5−الف ـ    + 1 = −4 

27ب ـ    × (−3)6 = 33 × 36 = 39 

 طول دسته ج ـ  

 یکد ـ  

 ـ 2 

2√3𝑥 + 4√3𝑥 − 7√3𝑥 = 5 → (2 + 4 − 7)√3𝑥 = 5 → √3𝑥 =
−5
−1

= 5 → 3𝑥 = 25 → 𝑥 =
25
3

 

 

 ـ 3

2√ (الف × 24 × 22 = √26 = 23 =  (ب         8
√16

√16
= 1 

 ـ  4  

(𝑎𝑥)2 + (𝑏𝑥)2 = (𝑎𝑥 + 𝑏𝑥)2 − 2(𝑎𝑏)𝑥 → 169 = 52 − 2(𝑎𝑏)𝑥 

169 − 25 = −2(𝑎𝑏)𝑥 → (𝑎𝑏)𝑥 =
144
−2

= −72 

 ـ 5

292(2− 1)
294 =

1
4

 

 ـ  6  

 √
a

2
= 3 →

𝑎

2
= 9 → 𝑎 = 18  , 𝑏 = 17 

 

 



 

 

 

 ـ 7 

x = 1 , x = 3 

 ـ   8 

4 × 85 + 10 × 60 + 6 × 10
4 + 10+ 6

=
340 + 600+ 60

20
=

1000
20

= 50 

 ـ 9 

 𝑛(𝑠) = 100 

𝑠 = {

(1,1)
(2,1)
⋮

(10,1)

…

⋯

(1,10)
⋮

(10,10)

}     𝐴 =

{
 
 

 
 
(2,2)
(4,2)
(6,2)
(8,2)
(10,2)

…

⋯

(2,10)

⋮

(10,10)}
 
 

 
 

     

𝑃(𝐴) (الف =
𝑛(𝐴)

𝑛(𝑠)
=

25
100

=
1
4

 

𝑃(𝐵) (ب =
𝑛(𝐵)

𝑛(𝑠)
=

20
100

=
1
5
𝐵 =

{
 
 

 
 
(1,5)
(2,5)
(3,5)
⋮

(10,5)

… (1,10)
(2,10)
(3,10)

(10,10)}
 
 

 
 

 

 ـ  10  

𝑝(𝐴) =
2

12
=

1

6
  

 ـ 11 

120 ×
1
8
= 15 

 

 الف(  ـ  12 



 

 

 

 بیشترین داده = دامنه تغییرات   –ب( کمترین داده 

 125=75-200 

 19=4+8+7ج ـ 

 14=2+4+8دـ 

 

 ـ 13

قرمز =
7
12
صورتی       = 

3
12
سفید      = 

2
12
زرد       = 

0
12
احتمال  اینکه  صورتی  یا قرمز باشد    = 

7 + 3
12

=
5
6
 

 ـ 14 

مجموع 16 داده  = 16 × 5 = 80

مجموع 4 داده  = 4𝑥
} 80+ 4𝑥 = 20 × 16 → 4𝑥 = 320− 80 = 240 → 𝑥 = 60 

  احتمال اینکه اول قرمز نباشد:ـ 15 

2
3
×

1
2
×

1
1
=

2
6
=

1
3
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

      


